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i} BE(#/S)| 2985 13.75 1.8 1.33 1.24
# X iz Bl O|&k /& O K O &K OpHE D)W O|H LXK LT DK LR DL
S El <ol <an|i@x him hliEx nlix | nji h) {30 b0 [ hiiF h
BRIEA ( B 50| 0:00014:50]9:00[14:50)0:00/14:250]9:00(14 50920014 2509 2.00)14 50
—|4& % ®C m )| 06| o0.60| 06| 060 060 06| 0.60| 060 0.60] 060} 060 o0.60}
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& ) BC T )| 178 | 222 85| 105 | 90 | 150 4.0 | 55 | 1401 105 | 144 | 182
XK B T )y11.0 4 186 9.0 ) 110 | 64 | 14.0 7.5 | 80 | 10.6 9.2 | 13.8 | 16.2
#t , B
% ® ®( on ) |305k |30 60k 2050k 3050k ] 30 5tk 30Kk {300k |30 k] 30 BLE |30 b4k [30b0k [30BLE]
P H 7.9 8.4 7.7 7.8 79| =80}l 80| 80| 74 7.5] 77| 80|
BiD- 0o (mrL) -g.5 10,0 15| 19| 11.6| 11.6| 11.6{ 11.7| 10.8| ‘11.4] 95| 11.6]
B- 0 D(m/L) |o5LTF| 0.5 0.8 0.8 1.4 1.3 0.5 0.8 0.7 1.2 1.6 1.5
C 0 D(mrL) 1.3 1.3 2.1 2.1 1.2 1.5[05HTF| 0.5 1.2 2.1 186 1.7
5 S (m L) 3 2 21 25 13 8 8 5 5 16 4 6
KBE R (MPN/100#L ) 1.3x10* 33x10° 2.3%10° 4.9 10° 3.3%10° 4.9% 10°
#h 5 (P L) *
7=/ =0 B (/L) At A A4
# (mg/ L) Gt 3 T T
" L B (m/ L) g i At
B R % (mL) 0.02 T R
% BRE=vYY (/L) g T A
# - FE(mL) TR Tl ARMEH
H 1 -
ETAHY E(L)
TrE=THEE (/L) 0.04 | 0.13 0.08
. A B S(m/L) 0.02 0.04 0.08
7 vFE v (mSL) )
B m s{m/ L) Tt T T |
AY v oa(m/L) A T it
v 7 v (ML) AR ¥l i1
Bl x 8 v vim/e)
i # (m/L) A R TR
sea (6ffi) (mg/L) T s3] TR
R x (m/L) Tt Rt At
gl& Kk &L TR ] Tk
Tadr KR (/L)
P C B(m e}
MR (L) 1.15 1.26 0.71
|V vBAF ¥ (mL) 0.10 0.08 0.15
D\ g B (m/L) 71.8 70.8 . 86.1
E‘ * E % (#0m) 140 122 126 122 150 140
B (m,/L)
(mg /L)
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